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28 SEP 2022
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SSC ONLINE LIVE CLASS

BILINGUAL

28 SEP 2022

BANK ONLINE LIVE CLASS
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Madeem £ hours ago
@ Homewark W 7

Ans - Option 4 - 37 63
% Thank you Sir for Dhamakedar Session 88 , , &

gy GF REPLY =

Mihagika Jha & hours ags
\%’-::t Achcha session tha sir %
Thank you &

Homework answer: option 4: 37 63

o GF REFPLY -

it. 5 hours ago 1 subscribars
Thank-you Sir for this Very Amazing and Wonderful Class Session.. g 4 '=

And

My Answer for today’s Homewaork is-
Option D - 37 63

Read more

o GF REFPLY -

Sakshi Juneja S hours ago
today’s answer 3763 your session is superb it's the first day | joined the session n ye session bhut osm tha bhut understanding tha & thanku sir

GF REFPLY =

o PUIA KUNDU Y ———— € hours ago 8 subscribars
e answer is — 37 63".... THANK YOU S00 MUCH SIR..... SUPERB DHASUU SESSION THE# % @ % % 3 3 O O Ju du e

Th
oy 1 &R REPLY -



Tanisha p & hows ago
Awresome class sir

Aagj kuch new shikhne ko mila

nk you Bir Jla e ofs
N 3T7- 63

Read rmiore
REPLY -
Sharmma & hours ago E subscribars
give daily classes for po
REPLY -

simrgaslalwani 1 hour ago
Answeroption 4- 37 63
Tysm nice session sir

o GF REPLY =

inha & hours ago
pton 44444 3762 Y B B B logical super session sir

REPLY -

pia & hours ago
THTHEW DNk

Option 4 3763

oy &P REPLY =
o &1 Savghal & hows =go 3 subsoribars
37, 63 ans sir class bhut bhut bhut achhi lgi aa] mza aa gya
oy 5P REPLY =
Dwiivedii 5 hours ago
bce sessian sir
Ans 3763

e REPLY -

i Shiivani Chandravanshi £ bours ago

iy &F

/--‘ Mice class sir jii

REPLY

-

Sagar Paul S hours ago

Thank you sir

Homework' s answeris d) 37 63

ih &F

REPLY

-

arti Prajapati & hours ago
Option 4 - 37,63

i &F

REPLY

-

yhﬂ Maiti & hours ago
-I-hankummuc'IE'irll ikl R RN RS RS

Answer-37 63

iy &P

REPLY

-

Sneha Dey 5 hours ags
37 63 ans thank you sir

oy &F

REPLY

-

-—ﬁ,—-ﬁ.ﬂliﬂk € hours ago 74 subccribers
£ IF H/wans. Option 437 63

iy GF

REPLY

-



PFliahibrends shaikih 4 bow= =go

Sir Chinese coding wala aur & seccion lijige =ir plz concept clear hoga aur ache seplz sir 4.
%’5 X REFLY =
. FSamita Bankaspirant 13 minut=s agao

Dpison:-4 sir

viamita Bankaspirant 12 minut=s ago

i

Jdaldi = puzzle laye =ir




Alphabetical Series

Chinese Coding — Decoding
Inequality

Blood Relation

Syllogism

Distance & Direction ( Point to Point )
Numerical puzzle

Square based Sitting Arrangement
Floor With Flat Based Puzzle



‘came you they know’ is written as ‘37 39 42 74°
‘luck give for ruin’ is written as ‘38 53 57 61’

‘Win of cricket great’ is written as ‘31 49 54 79’
‘we match place right’ is written as °38 35 63 72’

N 1Y s 23 _

‘know place’ can be written as?

V2% @ : eV — 2¢ -0
@TIE— N Pv— sz —&
B3y 6334~ Pu.

#3763 " R
(5) None of these \_{#\%

| 2



WRY MUG GYM ARE™ ROE
A

A g W
If all the words are arranged in dictionary order from left to right, then how

many words remain unchanged in their position?

gfe Teft yTaT Rl ATE A 7T ITegeh 9T ShA W A Rd fema STy, A feha visg aTat
feorfa o sraftafda wa €2

A.One

B. Two

C.Three

D.More than three
E.None

wiRY (OB




) BAG CUB (DRY) JET NEW

ACG BuC EIF cw
If all the letters in each of the words are arranged in alphabetical order within

the word then how many words thus formed will be meaningtul?

TS TeAh 3163 o AT &R i 168 o Wi JUTHhT H saafeerd foraT ATQ a1 36
YRR o o 91eg erefuut g

A.Three
B.Four
C.One
D.Two
E.None



((I{IVJT@JLOCBUMKIPOMASHGDILJO

If the first 14 alphabets are arranged in reverse order, then which of the

following alphabet is 15™ from the right end?

Ife ggel 14 78R I Iee vl W TRy foraT wiTar 2, ot feforRaa & ¥ i ot
AR I BRI 1597 32

A.L
B.O
C.F
D.T
E.W



BAG CUB DRY JET NEW

If the first and last letters of each word are interchanged then the last and

second letters interchanged their position, then how many words end with

vowels?

I Tk ITe8 oF UgeT TR AT 7RI hl MU U It @7 SATaT @ av 3ifaw 3
TEX AL T ATIH § T fam 14T 2, A foha 9168 Tl o Aol {HTH Bid 82

7N
A.None @ ANG
B.One < N
C. Two > @C‘ \_/Q
D.Three Q) Ch @ A

oo~ 7 ——



In the word “DUTIFUL”, how many pair of letters has as many

letters in between as they have in between them in English alphabet

series?

9158 "DUTIFUL" ¥, TS SUTHTAT HET | &R & fehaq
SIS o sfter o 3 g 318 2 RN 3eh sfier 1 22

r—/\
A. None DUTIFUL
B. 1 . ( | 12
5 4 QA R "\( R
D. 3
E.

None of these



J
. dameges recelved apology is written as 5D , 9C , 15G
head , headed , hooKk is written as SD , 5D , 15H

by
What is code for “banana” o foru Evtiera shig om gem?
& &>
1) 1A o — M Vot X
vy

3) 3M

(5) None of these




dameges , received , apology is written as SD , 9C , 15G
head , headed , hooKk is written as 5D, 5D, 15H

What is code for “apple” o feTu @Tiae shig T BRTT?
S

(D5~ No - wjua Ve
) 1A

B—3M

(40—

5) None of thes




ConclusioWO /H./IWZ E

(1) If only conclusion I Is true.
(2) If only conclusion Il is true.
(3) If either conclusion | or Il is true.

(4) If neither conclusion | nor Il Is true.

(5) If both conclusion | and Il are true.

hllvi\

\Y

|




Statement: B < C =D £ X < Y@Z

C — )

Conclusions: J<'B < X CH’Q <C

(1) If only conclusion I Is true.

(2) If only conclusion Il is true.

(3) If either conclusion | or Il is true.
(4) If neither conclusion | nor Il Is true.
(5) If both conclusion | and Il are true.




~

Statement: S < P < Ah= R>E<D

L ——

Conclusions: . A > D S < E
=

(1) If only conclusion I Is true.
(2) If only conclusion Il is true. < >
(3) If either conclusion | or Il is true. > <

(4) If neither conclusion | nor Il Is true.
(5) If both conclusion | and Il are true.



Statement: L<K<J2U; RﬁZTZJ_EC)/

Conclusions:/lﬂ/> L 4“7[] <R

(1) If only conclusion I Is true. _
(2) If only conclusion Il is true. 2 3‘@|<2 —
(3) If either conclusion | or Il is true. — —
(4) If neither conclusion | nor Il Is true.
(5) If both conclusion | and Il are true.




Q. In a family of seven people A, B, C, D, F, J and KL]Q is sistem and

only daughter of B, who is spouse of A. B is Grandmother of J & K,

whose mother is F. A has only 2 children .

T 1T o URAR A A, B, C, D, F, J iR K 2 | D, C <t 9&7 3R B &t
THFAHA TN TN A F UA/AAT 2, B, J T KR St e RARTIATFE 1 A
FIA 2 T B

Q. Who is the sister of C ?

\

CHITET RN E ?

(A K (B) F

(OB __(DyNone of these
Y




\
Point P is 18m north of point Q. Point S is Sm east of point Q. Point Z is west of

15m of point J. Point J is Sm west of point Q. Point N is 7m south of point Z. Point

S is 7m north of point W. (lfoint P is 3m east of poirﬁ)

fag P, g QW 1sHt s a2 feig 8, g Q w st ya w21 g Z, fag g & 15+t =%

uigm o 21 feig J, foig Q & st ufgm w81 fig W sh s u feig P, g T sh 3t qa ' 2,
r

w——e

What is the shortest distance between N and W? P

N 3R W o wed =qae g4 o1 87 llg

(a) 20m

(b)15m 2 s T
(¢) 10m W/ \ \ /
(d)Sm

' -



Point P is 18m north of point Q. Point S is Sm east of point Q. Point Z is west of

15m of point J. Point J is Sm west of point Q. Point N is 7m south of point Z.
Point S is 7m north of point W. Point P is 3m east of point T .

fagp, fig Q& 1sM s a R fig s, g Q % st ya w1 feig 7, Teig J & 15+t =%
aigm U 2| {eig J, foig Q o 56t iz 4 21 foig W sh st 4 faig P, feig T ok 3dT g &t
2

Point Z is in which direction with respect to S?
fag Z, s % wev 7 form oo W 22

(a) North-East

(b) North-west

(c) East

(d) South
W of these@



hd:
t :
Statements I FOHASHA R 5 / o
Only a few mails are smail.
d ; gwsﬁﬁawc\ 3 all [ Sorp
Some gmail are google. ot

Conclusion

Some mail are google ...

No google is mail —




Statements:

Only a few mails are gmail.
Some gmail are google.
Conclusion

Some mail are google .

No google is mail .



h:
Statements: gt g S ©.
All Duck is Bird. oft 51€ T E.
All Bird is Sparrow. had D ShT T B
Only a few Crow are Sparrow.  {-ShY:
Conclusions: gt 3! IS B
All Crow are Bird. D Soh T B

Some Duck are Sparrow.



Statements:

All Duck is Bird.

All Bird is Sparrow.

Only a few Crow are Sparrow.
Conclusions:

All Crow are Bird.%

Some Duck are SparrOW/



FIT-
Statements: hId S T HATCA o

Only a few Swati are Manali. S 5O HA SIEINIE

Only a Few Manali are Vani. H‘Jﬁc‘:l'rﬂﬁﬁ'ﬁl'%

All Vani are Roma. EL=ak

Conclusions: IS & IRCINI R

Some Swati can be Vani. Gt ATl ob T B shl TS &l

All Manali being Vani is a possibility.



Statements:
Only a few Swati are Manali.

Only a Few Manali are Vani.

All Vani are Roma.

Conclusions:

Some Swati can be Vani. /
All Manali being Vani is a possibility. ><




h:

Statements: QW SFITST ST %|
ion;e lthi:‘laj. a;e A.‘akash. Oh\l 1% STRTST T :lﬁ %|
o Aakash is Sarin. ~ :
Only a few Sarin are Poker. ;::Gf%h@ I Wél

Conclusions: ‘{:[‘Jﬁ g‘ﬂ—.-[ W %|
RERUSEEE N R

All Sarin are Poker.

Some Dhiraj are not Sarin.



Statements:

Some Dhiraj are Aakash.
No Aakash is Sarin.

Only a few Sarin are Poker.

Conclusions:

All Sarin are Poker. ><

Some Dhiraj are not Sarin. ~——"



h:
Statements: ;b Sre gh@ %oh W%|
Only a few Book are Paper. ﬁé T T T %l
No Paper are Pen. E i
Conclusion: . :
LFSTH UL

I: Some Book are Pen.

[1: Tt e heft O 7T &1 Fehall

I1: All Book can never be Pen.



Statements:
Only a few Book are Paper.
No Paper are Pen.

Conclusion:
I: Some Book are Pen. ><

I1: All Book cannever-be Pen/
GO\R Mo+




There are six cars — A B C D E F parked in a row facing north direction, but not necessarily in

the same order. The distances between two adjacent cares are successive multiples of three.
Information regarding all the cars:

*The distance between A and B is 33m and car A is to the immediate left of car B.

*The distance between the cars E and F is 99m . The distance between E and D is a multiple of
D

*The car B is 75Sm away from car C. Car D is to the left of car C, but not to the immediate left
1) i OF

BEFHEN S — A B C D E F 3t 9 hY 211 Uk Ufer § @t 2, eiferT &t 721 for st swa w gn o
STE Rt 3 sfrer 1 8 o 6 T Toren

QT HRT o TR T AR

*A 3R B o o<l 1 gl 33m € 3 T A R B o 9T 3 2

*E 3R F I o ofter it g8 99 W1 81 E 2R D % ofter <t g 2 ht Tes o1g Wit 31

*&R B %R C ¥ 75 M T 2| &R D &R C o TS AR 2, Ao C o Acehlel a4 T2t 8



There are six cars — A B C D E F parked in a row facing north direction, but not necessarily
in the same order. The distances between two adjacent cares are( successive multiples of three.)

Information regarding all the cars:

F *The distance between A and l} is 33m and car A is to the immediate left of car B.

*The distance between the cars E and F is 99m . The distance between E and D is a multiple
of 2.

*The car B is 75Sm away from car C. Car D is to the left of car C, but not to the immediate left

of C. (DFPeEecC
B E— D

" e
P ¥ p &8 2 <
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Eight persons P, Q, R, S, T, U, V and W are sitting around a square
table with four of them sitting at the corner and rest sitting at the
middle of the sides of table. All of them are facing towards the centre of
the table . One person sits between P and V. Two persons sit between V
and S. P sits at the corner of the table. U sits to the immediate left of T.
R sits second to the right of T. Q sits to the immediate right of R. W
does not sit to the immediate left of P.

B RGP, Q, R, S, T, U, V 3R W Uk SRR AT o IRE AR S 3,
8 & TR R WS § SR I A hl ATl o Hed | 39S 3| 37 Gt 1
T AT o ohg hl AR El P 3R V & Sl Teh ST 96T 8l V 3R S & st
21 STk A3 Bl P WS o hi4 WASTR| U, T o Stk 9™ AT 2l R, T o
| A T W AST 21 Q, R o 3k ST 3T 81 W, P % SYeh 91 TET 93T 2



Eight persons P, Q, R, S, T, U, V and W are sitting around a square table with
four of them sitting at the corner and rest sitting at the middle of the sides of
table. All of them are facing towards the centre of the table . One person sits
between P and V. Two persons sit between V and S. P sits at the corner of the
table. U sits to the immediate left of T. R sits second to the right of T. Q sits to the
immediate right of R. W does not sit to the immediate left of P.



Q.. In a class of 90 students, numbers of boys are twice the number of girls. Rani is
S8th from the left end and there are 20 boys to the right of Rani, then find the
number of girls to the left of Rani? (if Rani is girl)

90 BTAT kI Uch hHelT W, TTShI chi TEAT, ASTHRAT hl TEAT &I
T IAT B T ATE DR Y 58 F TAT WX F SR THT o6 FTHeA TR
20 TS T, AT TAT ok I3 TR ASTRAT hl AT T B2

(3R THT IghT B) e —

(1) 15
2) 16
3) 17
4) 19




